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int numreh;

numreh = 15;
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class AssignmentOperator {
public static void main(String[] args) {

int numberl, number2;
/I Assigning 5 to numberl

numberl =5;
System.out.printin(number1);
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10. /I Assigning value of variable number2 to numberl
11. number2 = numberl;
12. System.out.printin(number2);

14. }
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class ArithmeticOperator {
public static void main(String[] args) {

double numberl = 12.5, number2 = 3.5, result;

/I Using addition operator
result = numberl + number2;
System.out.printin(“number1 + number2 =" + result);

/I Using subtraction operator
result = numberl — number2;
System.out.printin(“number1 — number2 = ” + result);

/I Using multiplication operator

result = numberl * number2;
System.out.printin(“number1 * number2 = + result);
/I' Using division operator

result = numberl / number2;
System.out.printin(“number1 / number2 = ” + result);

/' Using remainder operator

result = numberl % number2;
System.out.printin(“number1 % number2 = ” + result);

}

numberl + number2 = 16.0

numberl — number2 = 9.0

numberl * number2 = 43.75

numberl / number2 = 3.5714285714285716

numberl % number2 = 2.0
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result = numberl + 5.2;

result = 2.3 +4.5;

number2 = numberl -2.9;
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class ArithmeticOperator {
public static void main(String[] args) {

String start, middle, end, result;
start = “Talk is cheap. “;

middle = “Show me the code. “;
end = “- Linus Torvalds”;

result = start + middle + end;
System.out.printIn(result);

}
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Talk is cheap. Show me the code. — Linus Torvalds
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class UnaryOperator {

public static void main(String[] args) {

double number = 5.2, resultNumber;
boolean flag = false;

System.out.printin(“+number = ” + +number);
/I number is equal to 5.2 here.
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10. System.out.printin(“-number =” + -number);
11. /Inumber is equal to 5.2 here.

13. /l ++number is equivalent to number = number + 1
14. System.out.printin(“number =” + ++number);

15. /Inumber is equal to 6.2 here.

16. //— number is equivalent to number = number - 1
17. System.out.printin(“number =" + —number);

18. /Inumber is equal to 5.2 here.

19. System.out.printin(“!flag =" + !flag);

20. /lflag is still false.

21. }

22. }

I

+number = 5.2
-number =-5.2
number = 6.2
number = 5.2

Iflag = true
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int myint = 5;

++myInt // myInt becomes 6
mylInt++ // myInt becomes 7
—myInt // myint becomes 6

myint—// myint becomes 5
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class UnaryOperator {
public static void main(String[] args) {

double number =5.2;
System.out.printin(number++);
System.out.printin(number);
System.out.printin(++number);
System.out.printin(number);

}
0. }
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System.out.printin(number++)
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System.out.printin(number)
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System.out.printin(++number)
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1. class RelationalOperator {

2. public static void main(String[] args) {

&

4. int numberl =5, number2 = 6;

58 if (numberl > number2)

6. {

7.  System.out.printin(“number1 is greater than number2.”);
8. }

9. else

10.

11. System.out.printin(“number2 is greater than number1.”);
12.

13. }

14. }

Tty e
number2 is greater than number1.
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class instanceofOperator {
public static void main(String[] args) {

String test = “asdf”;
boolean result;

result = test instanceof String;
System.out.printin(result);

}
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class LogicalOperator {
public static void main(String[] args) {

int numberl = 1, number2 =2, number3 = 9;
boolean result;

/I At least one expression needs to be true for result to be true
result = (numberl > number2) || (number3 > numberl);

/I result will be true because (numberl > number2) is true
System.out.printin(result);

/I All expression must be true from result to be true
result = (numberl > number2) && (number3 > numberl);

I/l result will be false because (number3 > numberl) is false
System.out.printIn(result);

}
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variable = Expression ? expressionl : expression2
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Leap year
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class ConditionalOperator {
public static void main(String[] args) {

int februaryDays = 29;
String result;

result = (februaryDays == 28) ? “Not a leap year” : “Leap year”;
System.out.printIn(result);

}
0. }
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X+=5 X =
X-=5 Xi=
x *=5 X =
x/=5 X =
X %=5 X =
Xx<<=5 x=
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x&=5 X =
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